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(iv) T99 o3 A T WR 1% fadwey @l & aenfy 2 il arel 2y H, 3 3fi am A

. T ¥ 31K 6 3iept Aot A WAt W siaRe feed e fvar w1 39w
: &act B famed &7 & IR aifore| B
(v) T A 99 H HREA W & 3R T 12 A o aden s 2
(vi) HEGR & TN B ﬂ'ﬂﬂﬁlqﬁgl
Note: (i) There are in all 30 questions in this questlon paper All questions are

compulsory. |

(i) Question No.1 to 10 carry one mark each. Question No.11 to 15 carry
two marks each, Question No. 16 to 25 carry three marks each and
Question No. 26 to 30 carry six marks each.

(iii} Question No.1 to 5 are multiple choice questlons.' Here four options are
givén in each question. Write the correct option in your answer book.

(iv) There is no overall choice in guestion paper, however, an internat choice
has been provided in two questions of 2 marks, three questions of 3
marks and three questions of 6 marks. You have to attempt only one of
the given choices in such questions.

(v) In questions on construction, drawing should be neat and exactly as per

the given measurement.
(vi) Use of calculator is not permitted.
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In following, the rational number is—

(i) 3 (i) Ja . (i) m (iv) 2+45
of2 FREROT G 6x - 3y +10 = 0 3R kx -y +9 =0 FRT Pt Y@ R &
k T A9 &N ' . _ _ _ . q

If the lines representing the pair of Iin’ea.r equations 6x-3y+10=0 and
kx -y +9 = 0 are paraliel, then the value of k will be-

M 1 G 2 Gi) 3  (iv) 6

Rreffad & A @t 9 e e we &t e S e d- 1
Which of the following cannot be the probability of an event- |

@ U3 @) 15% Gy -2 (iv) 0.3

fyoun r et 93 o1 SFBE AT R 1
The area of a circle having radius r, will be- |

(i) 2 nr? (i) nrz_ ' (iif) 2nmr (iv) xr

74 ¥ TR Ry oo g & g W= Wit o oy aweh o Yl S e d- 1
The number of tangents that can be drawn to a circle through a boint lying

outside the circle is~

® o @1 Gy 2 | ) 4

IgUE x2-3 & LIS Fa pifoel | | | 1
Find the zeroes of the polynomial x*-3. ' |

aft feey TR A0 @1 ndl 98 (2n+3) B ) 3T 13T UE 3a Sifeel i
If the n™" term of an A.P. is (2n+3), find its 11 term. |
af&tanA-cotB?hﬁaaﬁ%m%MB =90° . 1
If tan A = cot B, prove that A+B=90°. ' _ -
FrafafRaa siewst o1 s s Bifse- B - 1

Find the median of the foliowing data-

20, 29, 28, 33, 42, 38, 43,25, 40
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10.

11.

12,

13.

14,

awﬁgﬁaﬁw:t:gamgmaﬁﬁl g Byt & et &1 3rgurer s BT
| 1

Sides of two similar triangles are in the ratio 4:9. Find the ratio of areas of these

triangles.
%Wﬁmgxz-Bx 20= o%q\aaﬁaﬁﬁm o 2
Find the roots of the quadratic equation 9x2—3x~—20=0. | |

" | 37Ul (OR) |
TR A0 3, 8, 13, 16,.... P HT WO 78 &P

‘Which term of A.P. 3, 8, 13, 18,.....is 787

o tan(A+B) = 43 R

tan(A~B)=%:0°<A+339‘0°:A>s?h | |
A 3R B % 7 3@ B o | | .2.
Iftan(A+B) \/_and

tan(A B)*T 0°<A+B<90° A>B,
find the value of A and B.

ABCD%W%%@ABIIDC%WWWW%@OWWW%I
AO CO

asﬁsu B0~ DO = | | -2

ABCD |s a trapezium in which AB||DC and its diago'nals intersect each other at

AO . CO
BO DO

a1 g 3 Prdaria s BT 3 Regal (4, ~3) 3R (8, 5) B e Y YeaTEvE Y
FoRe ®T ¥ 3 : 1 Hogua Rl sxan 81 y | 2

the pomt 0. Show that —

Find the coordinates of the point which divides the line segmént- joining the

points (4, -3) and (8, 5) in the ratio 3 : 1 internally.
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15. 52 mﬁaﬁm%ﬂﬁﬁmﬁ@#%wwmmél mawwraﬁn |
a1l Ol TS &R 31 MTaabaT S o] 2

One card is taken out from a weli-shuffled deck of 52 cards Find the probability
of getting a red face card.

emar(on)
wwﬁaﬁwmmmélwwmmﬁﬁaﬁmﬁmaﬁaﬁﬁm

- A dice is thrown once. Find the probablllty of getting an even number.

16. qﬁﬁgﬁsmuaﬁﬁmaﬂmmH@BﬂwmﬂzzzsaﬂHCFmaﬁ%mﬂ?ﬁw
FIET LCM T aif3e| 3
By using Euclid's division algonthm find the HCF of the numbers 135 and 225.
Hence find the:r LCM.

17. wmﬁwﬁmﬁmm%:fﬁ & 2 a%asu‘ha'éﬁr GG K 8]
S &1 Dfoe | 3
The altitude of a nght triangle is 7 em less than its base. If the hypotenuse is 13
cm, find the other two sides. ' '

18, Tag &iae- o 3
Prove that— sinA 1 + cosA = 2cosecA '
: 1+ cosA sinA -
3441 (OR)

af& 15 cot A = 8 B & sin' A B A ST ST
If 15 cot A = 8, then find the value of sin A.

19. ﬁ@rslzﬁsfég(-z 1), (2, -2) 3R (5, 2) v DT Brgr 5 o &) 3

Show that the points (-2, 1), (2, —2) and (5, 2) are the vertices of a right
- triangle. - | -
20 ﬁﬂ%ﬁﬁﬂ!ﬂmﬁaﬁmﬁfﬁ@raﬁaﬁlﬁy | 3
~ Solve the following equations graphically. B '

2X+y=6 |
X=-2y+2=0
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21. Yasaguﬁama%’l‘au %'aas%ﬁﬁg P(2, -3) 3R Q(10, Y) ¥ & B g8 10 7w
B ) 3

Find the values of Y for which the dlstance between the pounts P(2, -3) and
Q(10,Y) is 10 units.

&1 (OR)

K 31 A S i, At g A (2, 3), B (4, k) 3 C (6, -3) W
Find the value of k if the points A (2, 3}, B (4 k) and C (6, -3) are Collinear.

22. _%WABC&WBCW%%DWWW%% ZADC - /BAC E| TRIf3T

f5 ca2 - ce.cp & 3
- D is a point on the side BC of a triangle ABC such that £ADC = LBAC Show that
CA%2 =CB.CD-
23. aﬁm@%ﬁwﬁﬁﬁﬁwaﬁamco@mwél
g ®ifse: AB+CcD=AD+BC. 3

In the given figure a quadrilateral ABCD is drawn to circumscribe a circle.
Prove that: AB+CD=AD+BC. | |

T

24, uﬁiﬁiﬁﬁaﬁmaﬂ?ﬁaﬁﬁzﬁgﬁmma‘raﬁ ?r'&n??rél ufe a7er 3k

gara‘m‘rﬁsshgﬁmam?hag @raﬁ%lagﬁqaama?ﬁm 3
A fraction becomes 19—1 ,if2is added to both the numerator and the denominator.

If 3 is added to both the numerator and the denominator, |t becomes g Find
the fraction.. |
372141 (OR)
ammmzséaﬂ?uﬁmmmaﬁzﬂmﬁ%l mmﬁr"snaa%‘l%m
The difference between two numbers is 26 and one number is three times the
other. Find the numbers. | |
231 (HUG) o 5] | - [PTO.
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25. -aﬁéaﬁww@aﬁm@hﬁﬁsma%fm&smwmmm%l
e TRy 14 ) %ﬁtﬁﬁﬁ@ﬁiﬁéw%%lwaﬁqaaﬁﬁawﬂ
&G I DIt o - _ 3
A vessel is in the_fqrm of a .hollow hemisph_ere mountéd by a hollow_, cy'linde_r.
The diaml'atet'-of’ the hemisphere. is 14 cm and the total height of the vessel is

13 cm. Find the inner.surface area of the vessel.

26.. T HARR A, Pt e 1ot  aer 18 ok, ey &, 24 R, e 35 gt sy 4,
TR URT ¥ e AR odeT | T sRm AN e R Ia w6
A motor b_oat whose bpe_éd’ ig 18 Km/hour in still water ta_ké’s 1 hour more to go
24 Km upstream than to return downstream to the séme spot. Fihd the speed

of the stream.

3T (OR)
el & e g @1 7t difare-
Solve the pair of equations-
2 +—3— =13
X Y
3_4__,
X7y

27. % AR & ure-fig A v Wt 3 R o1 39 3101 30° & 3R e  wre-fiig 9 AR
% v o1 35 T 60° @1 AR AR 50 m S &, O W B Sed aa Sdwie
The angle of elevation of the top of a building from the foot a tower is 30° and |
the angle of eIevatlon of the top of the tower from the foot of the building is
.__60° If the tower is 50 m hlgh find the height of the building.
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28. & Tl amepfr 3 Rt Breger ABC & i A I BC W 7T man 71| BC B D R 39 WBR
afre @ & f5 BD=3CD &1 Rz Hifdw R 2aB2=2aC2+BC2 3 6
In the given figure the perpendicular'drawn from the vertex A to the side BC of a
triangle ABC intersects BC at D such thét BD=3CD. Prove that 2AB>=2AC?+BC2.

A

‘AT (OR)

4390, 5 9. 3R 6 ek, gomaiT A v Frget o) < A 31k R 39 weT v

a2 frean ot < afore, Rreia oM it e Frgen o <imer ot o 2 @

Cohssruct a triangle of sides 4 cm, 5 cm and 6 cm and then construct another

trianéle similar to it whose sides are % of the corre'sponding sides of the given
~ triangle. | | |

29. an@és%ﬁa 3 45 cmaru'r% asﬁﬁa%ﬁmwzscmaﬂv?cm%lswm |
ﬁvm@ummﬁ%ﬁl (=Zdfm | | 6
The radii of the ends of a frustum of a cone 45 cm high are 28 cm and 7 cm.

Find its volume and the curved surface area. [take T = 272)

3YEl (OR)

ﬁmncmmﬁﬂl@asuarhﬁaﬁﬁmmﬁmscmmﬁ%amasmﬁmm
2| 3o DY FuTg T B

A metallic sphere of radius 4.2 cm is melted and recast into the shape of a
cylinder of radius 6 cm, Find the height of the cylinder.
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| 30%%%33@&@6%%9

Find the mode of the following data:

TR | 0-20 | 20-40|40-60] 60-80 | 80-100 {100-120
Class interval | o . | | |
IR 10 | 35| s2| 61| 38 29
Freguency ' '
¥ K Rk K
$
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